SAMAGRA SHIKSHA, KERALA
SECOND TERMINAL EVALUATION - 2019
| MATHEMATICS - IX
Time : 2= Hours Score ; §0

Instructions

» Tead the instructions before answering the questions
& Give explanations wherever necessary

« Simplificativs using appeosimate vahues of 7.2, J3 needwobedoneonly ifgpecifically ased.
» [First 15 mimetes time is cool — off time,

Answer any 3 Questions from 1 to 4. Each question carries 2 seores. Ax2=6)

1. In the figure AP, B and CR are three parallel lines, AC = 3 entimetres,

PR = 10 centimetres and AB = 2 centimetres, —r T
{a) What is AB:BCT
iy Find the length of QR. a

A P

2. Compase the two triangles given below and find the lengths of QR and PR

R
h.
P a @

3, play= 5 - T+ Br+ 100
Find pity and p(1}.
3. Diameter of a circle is 10 centimetres, Find the area of the circle.

Answer any 5 Questions from 5 to 11. Fach question carries 3 seores.  (513=13)
P 05

5. T the figure AB and PO are parallel lines.
(&) Aren of triangle ABP is 10D square centimetres.
Find the area of irangle ABC,
{b) Write another twi pairs of tiangles

with equal area, Y B

i sl I 3
6. (a) Write 3 fractions closer and closer w o and whise denominators are powers
3 p

of 10,
{b) Write the decimal form of 00117,
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7. Inthe figure, AB is the chord of the circle with centre O,
0OC is perpendicular to AB,
{8) IfAB =6 centimetres, then find BC,
(b} Prove that perpendicular from the centre of

ncircle w a chond, bisects the ehord.
A

B, Length of a rectangle is 6 centimetres and breadth is 4 centimetres.
(2) What is the ratio of length and breadth?
(b} Diraw a rectungle with perimeter 26 centimetres
and sides are in the above ratio,
9. In the figure, the radii of circles with centre ‘0" are
in fhe ratio 2 : 3.
{8) AB:PQ=.....
(b} Find the ratic of the areas of triangles.
(e} 1T the area of the small triangle is 24 square centimetres, °
then find the area of large triangle.

10, (@) If the length of a rectangle having perimeter 20 centimetres is lukgn as x and the
breadth as bix), then bix) = .
(b) If the breadth of mmng,lelmmgmzst syuare centimetres is taken as x and the
length os pix). then pic) =
(e Among b{x) and px), \\hh.'h |sa]:-olynnrru&]°
11 In the figure © is the centre of the circle and AR is o diameter.
< BOC= 6{F, are length of BPC is 20n centimetres,
(@) Whatis ~ ADC7?
{h} What is the are length of AQC 7
(€} Find the perimeter of the circle. Q ’
Answer any 7 Questions from 12 to 21. Each question carries 4 scores. (Tx 4=28)

A 1]

12, (a) Which among the following products are natural numbers?
g = 1 =1
(JI0x42, f12x43, *'U"\_E. \"L‘;.'J'J

(b) Thearea ol o rectangle is |28 squere metres and its length is 4 metres. Find its breadth.
13.1n a circle of radins 13 centimetres, there are two paraliel chords of lengths 10

centimetres and 24 centimetres.

{m) What is the distance from the centre of the circle to the chord of length 10

centimetnes?
(k) If the chords are in the same side of the centre, then find the distance berween

them.
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14 Intriangle ABC, Pand Q) are midpoints of AC and BC «
respectively. X and Y are midpoints of AM and BM respectively.

(a) TEAB = 10 centimetres, find the lengths of PO and XY,
(b} Prove that AN = XM =M,

15 Draw a triangle with perimeter 13 centimetnes whose sides e in the ratio 2: 3 - 4.
L6 (a) plx)=ax+bisa first degree polynomial. Find p(1).

{h} Write a first degree polynomial with p(1) = 1 and p(2)= 3,
17 Perimeter of the regular hexagon in the figure is 24 centimetres.

(@) What is the radius of the circle?

(b} Find perimeter of the circle,
(€} Construct a regular hexagon of perimeter 24 centimetres,

18 F, Qand R are midpoints of the sides of the wiangle ABC,
(&) If the area of traingle ABC is 12 sguare centimetres, then
find aren of parallelogram APQR.
(b} AB =8 centimetres, BC = AC = 5 centimetres,
Draw triangle ABC and drew a parallelogram
whuose arex is halfthe area of the triangle, A

194 the right triangle ABC, Pand () are the midpoints of
“AB and BC respectively. O is the centre of the clrcle.
(2) What is the measure of £ APO?
(b} Prove that riangles APO and COO are similar,

20, If the length of rectangles having perimeter 50 centimetres
is taken as r and its aren 55 arx), then
(ap Wribelhem]nﬁnmhip_bumnxand aix) as an equation.
{b) Find a( 10) and a{15).
(&b Ifar?h=oik) and kis an even number, then what number is & 7
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21 The angles of the triangle are in the ratio 2: 3 : 4. Three arcs of radius 4 centimetres are
drawn with vertices as centres.
(a) Find the sum of central angles of the shaded
region.
(b) Find the anea of the shaded region.
“Mhatis the ratio of the areas of
Ly shaded sectors?

cusier-atiy 5 Questions from 22 to 28, Ench question carries S-smﬂ!. {(3x3=25)

22, Total number of cars and autoricksheaws in A garage is 23, The total number of wheels of
these vehicles is 81. .
() Ifthe number of cars is taken as x, then what is the total number of wheels of cars?
{h) Find the nuniber of cars and sutorickshaws,

I3 Draw an equilateral triangle with side $ centimetres. Draw its circumeirele und

measure its radius, D,

24 Inthe figure, quadrilateral PORS is drawn by
joining the midpoints of the sides of the
quadrilateral AT,
(a) TTAC = 10 centimetres, then find PQ.
(b} Prove that quadrilateral PORS i o parallelogram,
(e} IF AC = BD, what type of quadrilateral is PRS?

A

25 In the figure, PQ) and BC are parallel. AB = § centimetres
and PH = 2 centimetres.
{n) Find AP:AR,
(k) Intriangle XYZ. XY = 9 centimetres.
LX=50F, £ ¥ =60 Diraw the trfangle having

P B
3
angles sume to that of XYZ and with sides Z thofthe sides of XYZ.

26 (u) Iflength of the side of a square is aken as * centimetre and its perimeter as pix),
thenpix)=............
(k) Ifeach side of the squase with side x is increased by 2 centimetres, then what is the
perimeter of the new square?
(e} INeach side of the syuare is incresed by 3 contimetnes. then the incrense in perim-
- . U
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37 In the figure, AB is the diameter of the semi circle. Three semi circles with diameters
AC, CTyand D wre drawn.

AL cp

AC = 4 contimetres, CIY=—_ DR =—~

{a) What is the arc length of semi circle
with diarneter AC 7

(b} What i the are length of semi circle
with diameter AR 7

A

el What is the perimeter of the shaded region?

2% Intriangle ARC, £ ACH = %F
and CD is perpendicular to AB.
{a) If £ A=350, find 2 ACD.
b} Prove that mlr_-nflrimlm.-\CD:lnd
llf'Dmcqual. A L 1] [] B
() Prove that if the perpendicular from the right angled verex of a right triangle
divides the opposite side into parts of lengths a and b and if the length of the
perpendicular is h. then b = ab.

Read ihe given prssage carcfully and write answers 1o the following questions. Each
question carries one sCore {hxl=48)

20 Look at the following shapes. Generally we call such shapes as prisms. Ve can so¢
geometrical shapes such as idangles, squeres, rectangles, pentagons cic. o thern. These
are called ‘faces’ of the prism.

Edge is the intersection of two faces and vertex is the point of intersection of three
faces, The faces on top and bottom are called “bases’, and cdges on these fisces are
called “base edges,” The base of a triangular prism is triangle.

LA
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[ Nameor _ll No.of | > NAGE | i NooE
Prism buseedges | fuces (1) | Vertices (v} Edges {e)
gl Prism | T R P
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[Hexagonal Prism T

e
3
| =

Ohs;"‘e :K:gi»;;at;;mas\;ﬂu_fo"m;na;;m'_. 3T
(@) How many Faces ane there for 4 prism having 6 hise edpes?

(b If the number of faces is 7. then what i the number of vertices 7
(e} Number of base edges of a prism is 7, what is the number of edges?
{d} If the number of base edges is m, then whai is the number of edges?
{eh T¥ the number of buse edges is ar, then what s the number of faces?

() Ifthe number of faces =K the number of verijces = v, and number of edges = ¢,
then what is f+ v _ g 7
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